DRAWN BY: MARK SUJKA

HOOK BOLT (TYP.)

CABLE BARRIER

(SEE DETAIL) N
SEE DETAIL "A" & J -
«1 - -
= <
m T - -
- T
3/4" WIRE ROPE (TYP.) / N 3/4" WIRE ROPE (TYP)) /
S3x5.7x5'-3"/ 83x5.7x5‘-3"/
AR SN
|
|
M
|
o S SEE DETAIL "C"
I '
|
| |

TYPE 1

HOLES IN OPPOSITE FLANGE ARE HOLES IN OPPOSITE FLANGE ARE

REQUIRED ONLY FOR ALTERNATE REQUIRED ONLY FOR ALTERNATE
HOOK BOLTS (SEE DETAIL) 34" HOOK BOLTS (SEE DETAIL) 3/4"
DRl DRas

N il g o

[} %H o %H

- - - il - - s il

© I N I

i B . A = Ll

- I - I

® I i - . gl

—H - H— - - - el N ol

se piam, || - |

HOLE (TYP.) I 1 - - - iyl

I 3/8" DIAM. I

H HOLE (TYP.) H

AAWJ\\FWA, A,AN\TA, AAWJ\\FWA, A,J\\rg,
DETAIL "A" DETAIL "B"

NOTE: THIS PLAN IS NOT A LEGAL ENGINEERING DOCUMENT BUT AN ELECTRONIC DUPLICATE.
THE ORIGINAL, SIGNED BY THE ENGINEER AND APPROVED FOR PUBLICATION, IS KEPT ON FILE
AT THE WASHINGTON STATE DEPARTMENT OF TRANSPORTATION. A COPY MAY BE OBTAINED
UPON REQUEST.

CABLE BARRIER
TYPE 2

BOTTOM 1/41"2 3/8

1

X

2 3/4"

1
dnnnuones

HOOK BOLT

DETAIL

"

"

41/2"

B

ALTERNATE HOOK BOLT

P e

BOTTOM CORNERS MAY
BE CLIPPED 2" x 2"
TO AID DRIVING

OPTIONAL 3/4" DIAM.

8" x 24" x 1/4" PLATE ~
/ ™~

T Emem — — — — — — — s

/ HOLE FOR HANDLING
y DURING GALVANIZING

DETAIL "C"

/4

ISOMETRIC VIEW

HOOK BOLT (TYP.) HOOK BOLT (TYP.)
(SEE DETAIL) . (SEE DETAIL) 83x 57 ~
SEE DETAIL "B" § SEE DETAIL "B"
&l -
T o
8 3/4" WIRE ROPE (TYP.) / 8
S3x57 x5 - 3" e 5/16" HEX NUT
RN,
[
[
[
[
[
S SEE DETAIL "C" } } S SEE DETAIL "C"
[
U S3x57 “\\\\\
| |
5/16" HEX NUT
(NO BACKING
NUT REQUIRED)
CABLE BARRIER
TYPE 3
TOP AND

DETAIL

1/16" TO 1/8"

5/16" x 2 3/4" x 2" x 1" x 1"
ROUND BEND HOOK BOLT

5/16" HEX BACKING OR
APPROVED SHOULDER

1/16" TO 1/8"

516" x 4 1/2" x 2" x 1" x 1"
ROUND BEND HOOK BOLT

[EXPIRES JULY 24, 2004]

CABLE BARRIER

STANDARD PLAN C-11

SHEET 1 OF 1 SHEET

APPROVED FOR PUBLICATION
Harold J. Peterfeso

05-20-04

1272003

REVISEDED DETAILS A" & “B”, REMOVED DIM.
FROM GROUNDLINE TO TOP OF PLATE

MS

DATE

REVISION

BY

STATE DESIGN ENGINEER
Washington Siate Department of Transportation
/4

DATE




DRAWN BY: MARK SUJKA

4" x 5" x 0.080" ALUMINUM
BACKING WITH 2 5/8" x 5"
REFLECTIVE SHEETING

ALIGN FACE OF REFLECTOR
WITH FLANGE EDGES

T

ABLE

CURVE RADIUS

POST SPACING

LESS THAN 110'

USE NOT RECOMMENDED

NOTES

1. When installed in front of slopes steeper than 6:1, the distance
between posts and slope break point shall be 1' - 0" minimum.

2. Where barrier is parallel to the edge of the travelled way, every
sixth post shall have a reflector; see Reflector Detail. Reflectors
shall be white when installed on the right side of traffic, and

3. See Standard Plan C-11b for Cable Barrier Terminal details.

[EXPIRES JULY 24, 2004]

CABLE BARRIER
PLACEMENT

STANDARD PLAN C-11a

SHEET 1 OF 1 SHEET

APPROVED FOR PUBLICATION

110' TO 219' ' i -
0 TO 29 6 yellow when installed on the left side of traffic.
220' TO 699' 12/
700' OR MORE
AND 16'
TANGENT SECTIONS
2000' MAX. (TYP.)
CABLE BARRIER PAY LIMIT CABLE BARRIER PAY LIMIT
SEE TABLE FOR POST SPACING SEE TABLE FOR POST SPACING
I Ll I I L I
N il
(MEASURE ALONG FACE OF CABLE BARRIER)
PLAN VIEW
! CABLE BARRIER PLACEMENT
. ALUMINUM
5 |~ BACKING
&l |
ol —
& L POST
N
INSTALL ON BOTH
POST ELEVATION VIEW SIDES OF POST
WHEN IN MEDIAN
(SEE NOTE 2)
T @
) N 1/4" BOLT W/
® LOCK NUT
s s b= o
~
N | 1" SPACER ~ GALVANIZED
OTE: S IS NO' G/ Gl G DOCI :CTRONIC ICATE.
o= — STEEL, OR ALUMINUM - THE ORIGINAL, SIGNED 8 THE ENGINEER AND APPROVED FOR PUBLICATION IS KEPT ON FILE

PLAN VIEW
REFLECTOR DETAIL

AT THE WASHINGTON STATE DEPARTMENT OF TRANSPORTATION. A COPY MAY BE OBTAINED
UPON REQUEST.

Harold J. Peterfeso 05-20-04

0472004 | REVISED TABLE, NOTE 1, & REFLECTOR DETAIL MS

DATE REVISION BY

STATE DESIGN ENGINEER DATE

Washington State Department of Transportation
7/




CABLE BARRIER PAY LIMIT

DRAWN BY: MARK SUJKA

NOTES

1. Stagger Spring Cable End assemblies for clearance between units.
Installation of cable end assemblies shall be as follows:

LENGTH OF CABLE RUNS:

u“‘: SEE STANDARD PLAN C-11a FOR POST SPACING ' .
= Up to 500' ~ Use the Spring Cable End Assembly on one end, and turnbuckle only on the
2 other end of each cable.
Ll
7 Over 500' to 2000' ~ Use the Spring Cable End Assembly on each end of each cable.
Z I L
. i . .
iOT 2. Distance from tangent of barrier run to notch for top cable on breakaway anchor angle shall be 4'.
PLAN VIEW
SPRING CABLE END ASSEMBLIES 3. Where the cable is c_onnected to a cable socket with a wedge t_ype conpector, one wire of the
| SEE NOTE 1 wire rope shall be crimped over the base of the wedge to hold it firmly in place.
i TABLE
& A B c
3k 3S
g9y I I e e BARBIER | _ TOP OF FOOTING TO SUP POST | BETWEEN
= u u ﬁ] TOP OF HIGHEST CABLE | DIMENSIONS CABLES
R g I I I
Bg8 CEMENT CONCRETE FOOTING ~ " " "
e PRECAST SHOWN, SEE SHEET 2 TYPET 27 S3x 87 =271l 3
g EE FOR CAST-IN-PLACE ELEVATION TYPE 2 30" S3x57x301/4" | 412"
s
g §§ -0 TYPE 3 30" S3x57x301/4" | 4112
<] 2 " n
§§§ 12 3/4" 13 1/4" . . % 5" E 5
o " ' BOTTOM | " " " " "
H ol )L 812 ' Flq - R L2 R L
L | 28T e 3 \ \ ,,
g% N | | \ \ 9/16" DIAM.
28z n i ‘ ]~ HOLES (TYP.)
g5, Tl a0 E -
§ 458 = T o ' T e é ’’’’’ -~
FEsg h : ‘ E - ‘ ‘
GEus z < (e < | |
sefsl . B L =
g | . F
— O L ] T %) ***** — O -[~_ 28 GAGE GALVANIZED
¥| @ g ‘-—f SHEET METAL
o ©
- = #3 BARS (TYP) @ > S3x 8.7 POST 3/8" PLATE KEEPER PLATE DETAIL
POST SLIP BASE DETAIL
Q_T J 1/2" PLATE PLAN VIEW
3/4" HEAVY HEX NUT W/ TOP CABLE POST SLIP BASE on
PLAIN WASHERS (TYP.) PLAN VIEW 2o0
"y o \ B (SEE TABLE) & 4 Ty
y | 1/2" x 2" BOLT WITH NUT = -/
SEE BRACKET DETAIL i AND THREE WASHERS (TYP.) ., \
= TORQUE TO 300 INCH-POUNDS 3/8" PLATE a. ‘ {?/7
~ ‘ ”
BREAKAWAY ! o 3/4" HEAVY HEX NUT W/ / ~ ‘ %
KEEPER PLATE ~ :
ANCHOR ANGLE ¢ < 2 PLAIN WASHERS (TYP.) X / I A |
POST | < L . CUT A SLOT TO MAKE
COMMERGCIAL CONCRETE e Il ' = 3/8" PLATE o | AN 1/8° THICK TAB
1 BASE & |& 2 74 : APPROX. 1" LONG,
- = 8 I N | BEND AROUND CABLE
e — = N ‘ ! | [EXPRES JULY 24, 2004]
, Iyl ‘Pb . R S g o I
Il o : O S ; v "
li il _ R 1 RS I S R S / 12" PLATE CABLE BARRIER
(2) #3 BARS T 1Y FOR RETROFIT SITUATIONS: N | R Ot | | s TERMINAL
36" LONG (TYP.) ToanL ™ INSTALL (4) 3/4" DIAM. RESIN 2 ] © N
BONDED ANCHORS WITH 8" MIN. iml -
212" CLR, Jl: EMBEDMENT, THREAD TOP 2" MIN. B STANDARD PLAN C-11b
(TYp) Y W 3 ] ] i | 114 SHEET 1 OF 2 SHEETS
— FOR NEW CONSTRUCTION: ~  ELEVATION B (SEETABLE) — "~ 14 APPROVED FOR PUBLICATION
OR 1.BOLTS OR RESIN BONDED POST SLIP BASE BRACKET DETAIL
INSTALL (8) 3/4" x 24" OR J-BOLTS OR RESIN BONDED
HOOK BOLTS OR J-BOLTS, (2) #3 BARS ANCHORS W/ 8" MIN. EMBEDMENT, Harold J. Peterfeso 05-20-04
W/ TOP 2" THREADED ELEVATION THREAD TOP 2" MIN. STATE DESIGN ENGINEER DATE

PRECAST FOOTING

0472004

REV. FOUNDATION; REV. BOLT LENGTH FOR SLIP BASE.

MS

Washington Siate Department of Transportation
/4

DATE

REVISION BY




STANDARD TURNBUCKLE

GALVANIZED SPRING

3 3/4"

s 12" TAKEUP / WIRE 9/16" DIAM.
= 7"~ RIGHT—HANIg 25" 138"
THREAD " 198
7] 7 3/4 1/2" "
X m 2 1/4" ~ RIGHT-HAND — ‘* |1-|/0|_EIAM'
< A THREAD ro
% T\ 5 |_— 172" PLATE T <
m ——{ @I\\\\\\\\ Ty @ 9 = NN -
z TR R RRRRERRER © o
g 3/4 " HEX NUT
@ FLATTEN FOR LEFT-HAND FLATTEN FOR &
WRENCH THREAD WRENCH SPRING STOP iE !
4 1/2" LONG . 1/2" PLATE
& ‘
SPRING CABLE END ASSEMBLY Y | 1 Diam END GUSSET
BB % HOLE (TYP.) -
STANDARD TURNBUCKLE 7" ~ LEFT-HAND ] ] | S 112" PLATE N
_ 7" ~ RIGHT-HAND 12" TAKEUP THREAD X on qml g qml o on L v qn on
§ 48 THREADS 7" ~ RIGHT-HAND - } } } } } } } } o 5
i3 = THREAD = =
3§ 3 \ 13 3 \ PLAN VIEW - -
gad ¢ ©
i | |
gg% — JLTLITTLY \\\\\\1':\/@:?////// Ty —_— T
D 1/4" PLATE
EQR INSIDE GUSSET
g% FLATTEN FOR FLATTEN FOR 12" R
gge WRENCH WRENCH [
of B 5o TURNBUCKLE ASSEMBLY 202 2 2 2t e 2t 212
' T /]
S ) " ' "
SEG 1'- 4 3/ 1-51/
e : . - BOTTOM ‘L—’B s — A/ A/ -
K W | - 5 5 & S
ga 5 ‘ g g :
285 g g gl Vs
352y N ) i | |
2358 - ! !
5 g E 8 & i i [T ‘ T T ‘
uo ¥ ! ‘
1l ) R 514" | 312" | 4"
K - L ALL BENDS ARE 2" RADIUS ! ! 7a V \TYP)
< 7 o
5 ELEVATION SIDE VIEW
-I = :" = -
N (E & g 5 BREAKAWAY ANCHOR ANGLE
N J S o - S g
3/4" HEAVY HEX NUT W/ J #3 HOOP 0125 l .
PLAIN WASHERS (TYP.) TOP CABLE 0.203"R
PLAN VIEW : 3/4" CABLE
(TYP) T T
} ‘ KN
SEE BRACKET DETAIL I CABLE END (CAST STEEL
7 USE WITH ALL CABLE FITTINGS OR MALLEABLE IRON)
BREAKAWAY \ u CABLE WEDGE
ANCHOR ANGLE ¢l < aQ
POST 4 ~=
sup © w
COMMERCIAL CONCRETE 5/ BASE & 7
n éf C FLATTEN FOR WRENCH
— = — = LT — Tp] - PLAIN WASHER [EXPIRES JULY 24, 2004]
| :I |: :: :: | - 13/16" 1.D. x 2 1/2" O.D. x 0.165"
Il
B il |\ ! | < TWO PLAIN WASHERS CABLE BARRIER
(2) #3BARS 1_ _hl h_ o o _r e 13/16" I.D. x 2" O.D. x 0.148" TERMINAL
36" LONG (TYP.) =Jdiibs © 3/16" BRASS WELDING ROD, 16" MIN. ~ BEND ONE
= , .~ N
) | | | © INCH AT EACH END, TO KEEP IN PLACE. MUST BE ——=- STANDARD PLAN C-11b
212" CLR. | | = INSTALLED PRIOR TO TENSIONING THE CABLES. BREAKAWAY ANCHOR ANGLE
avey |/ A | o HEX NS 7 SHEET 2 OF 2 SHEETS
3 utS = . APPROVED FOR PUBLICATION
INSTALL (8) 3/4" x 24"
HOOK BOLTS OR J-BOLTS, ELEVATION #3 HOOPS Harold J. Peterfeso 05-20-04

W/ TOP 2" THREADED

CAST-IN-PLACE FOOTING

CABLE END ASSEMBLY TO
BREAKAWAY ANCHOR ANGLE DETAIL

STATE DESIGN ENGINEER DATE

Washington Siate Department of Transportation
/4




STEEL G-2 POST (TYP.)

3/4" WIRE ROPE
N Ly

GUARDRAIL TERMINAL NOT INCLUDED IN TRANSITION BID ITEM

BEAM GUARDRAIL TYPE 1 (W-BEAM) PAY LIMIT

FLARED TERMINAL (SRT SHOWN)

WOOD POST (TYP.)
BRACKET (TYP.)

N g v
N N\ _
b b b b b b B

BREAKAWAY ANCHOR
~ SEE DETAIL, SHEET 2

OR W-BEAM BULLNOSE TERMINAL SPRING CABLE END ASSEMBLIES
~ SEE STD. PLAN C-11b, SHEET 2

BREAKAWAY ANCHOR
FOOTING ~ SEE DETAIL,
SHEET 2

4'-0" (TYP) 84"

— W-BEAM
DIRECTION OF TRAFFIC | | | GUARDRAIL
CABLE BARRIER TYPE 3 CABLE BARRIER TYPE 3 % 16'-0"
STEEL G2 POSTS ~ 16'- 0" SPACING STEEL G2 POSTS ~ 15 SPACES @ 4'- 0" = 60°- 0" |
CABLE BARRIER TYPE 3 PAY LIMIT CABLE BARRIER TYPE 3 TRANSITION TO W-BEAM GUARDRAIL PAY LIMIT
(TRANSITION LENGTH = 92'- 0)
PLAN VIEW
SEE DETAIL
1. g W-BEAM
3/4" WIRE ROPE \\ STEEL G-2 POST (TYP.) \ | GUARDRAIL
“‘ \ { L L { i —1' L -\ i L L { ‘ { I I I I
j ﬁ — | o] * S o
4l ————
4= =) I ‘ 3 ‘
GROUND LINE / o o | o | o | | | o
! ! ELEVATION VIEW \WOODPOST(TYP.)
= = BREAKAWAY ANCHOR

DRAWN BY: MONIQUE GLICK

STEEL G-2 POSTS

e 3/4" WIRE ROPE S
g g W-BEAM
- GUARDRAIL
/L| i — i r—1 . i
/ 7 J_ o ¢ e \
(L . 7 : : ; <

2" 6"
2. 3u

WOOD POST (TYP.)

NOTE: THIS PLAN IS NOT A LEGAL ENGINEERING DOCUMENT BUT AN ELECTRONIC DUPLICATE.
THE ORIGINAL, SIGNED BY THE ENGINEER AND APPROVED FOR PUBLICATION, IS KEPT ON FILE
AT THE WASHINGTON STATE DEPARTMENT OF TRANSPORTATION. A COPY MAY BE OBTAINED
UPON REQUEST.

GROUND LINE /

3 CABLE TRANSITION
TO W-BEAM BRACKETS
~ SEE DETAIL, SHEET 2

DETAIL

FOOTING ~ SEE DETAIL,
SHEET 2

[EXPIRES JULY 24, 2006 ]

CABLE BARRIER TYPE 3
TRANSITION
TO W-BEAM GUARDRAIL
STANDARD PLAN C-3d

SHEET 1 OF 2 SHEETS
APPROVED FOR PUBLICATION

Harold J. Peterfeso 03-03-05

STATE DESIGN ENGINEER DATE
Washington Siate Department of Transportation
/4




DRAWN BY: MONIQUE GLICK

3/16" x 3" x 27" CAP

‘1 172"

6 1/8"

BUTTON HEAD BOLT,
WASHER AND HEX NUT.

BOTTOM CABLE

TOP CABLE
21/4" STEEL ANGLE
1/8" x 1 3/4" x 1 1/4"
- 1 1/4"R.
____J-__"1]
: i &:[ /17
N | ']
L - — ,i, J— -~
1 T~ STEEL BAR .
! 1/2" x 1/2" x 2" g
|
|
! 1" DIAM. HOLE
e W-BEAMRAIL
1 / ELEMENT
-
) R B
@ -
I A DRILL 1" DIAM. |
! HOLE IN W-BEAM
|
! BEND OVER AFTER
: CABLE IS INSTALLED N‘
|
i "
|
T T MIDDLE CABLE -
¥ 112 ~11/4"
o ' "
3 (YP) 813 3112
ELEVATION VIEW END VIEW

STEEL USED IN THE FABRICATION OF THE BRACKET SHALL CONFORM TO ASTM A 36 AND THE
BRACKET SHALL BE GALVANIZED AFTER FABRICATION IN ACCORDANCE WITHASTM A 123.

3 CABLE TRANSITION TO W-BEAM BRACKET DETAIL

5! - 0"
1-111/2" 9" 2'-31/2" 4o
BREAKAWAY ANCHOR —_[— . . - —
/’I o
BOTTOM CABLE A ALLDIMENSIONS |87
E s ARE OUT TO OUT ~
@ 1 _' -
7 D it ALL BENDS ARE 2"R. ®
TOP CABLE / )
L) PY 9 - |\
3/4" HEAVY HEX NUTS
WITH PLAIN WASHERS (TYP.) PLAN VIEW #3 HOOP
DIRECTION OF TRAFFIC
23/4" 2'-43/4"
11/2"
CLR.
NS I /r - NAYREY
4
5|0
v |k e
™ ==2|itos % %
(Q#3~3-0"__~ |
(TYP) J‘ ‘ )
INSTALL (8) 3/4" x 24" - #3 HOOPS 4 21/
HOOK BOLTS OR J-BOLTS, 5-0" (TYP)
WITH TOP 2" THREADED
ELEVATION VIEW

BREAKAWAY ANCHOR FOOTING DETAIL

14"
A T
i AL A LAY
i 3 i ,,,,,,L;L 77777 1 ,,I 112" t H i
2, 3 3 3 © /
| \ | | J ‘\ O O O O
‘ I : : 13/16" DIAM. 1/2"PLATE __| | 13/16"
| | | |
| 1 | | THRUST PLATE ©c O O O
i | | | | TOP
o \ \ \ \ 1"
A OO0 Qi‘ FL 12V
K iu 1/4" DIAM. - e
P - ,,,,@,,,,@ - ,@, I T HOLE X . i
| e 1/2" PLATE QI 1/4" PLATE @ JE\V S
J 1 3 3 1 by | |
1/2" PLATE R A A S r ~_ cLIP 14" '~ GLIP 1/4" 3 3
\ T T T \ 2 1/4" \
1" DIAM. HOLE (TYP) L_J 1 15116" o w
BASE PLATE 4 L 5 1‘ 4" 1\ 7 (TYP)
END INSIDE REAR
GUSSET GUSSET
BREAKAWAY ANCHOR DETAIL

THRUST PLATE

. — BASE PLATE

3/16" BRASS WELDING ROD, 16" MIN. ~ BEND ONE
INCH AT EACH END, TO KEEP IN PLACE. MUST BE
INSTALLED PRIOR TO TENSIONING THE CABLES.

CABLE END ASSEMBLY
~ SEE STD. PLAN C-11b,
SHEET 2

GUSSET

[EXPIRES JULY 24, 2006 ]

CABLE BARRIER TYPE 3

TRANSITION

TO W-BEAM GUARDRAIL
STANDARD PLAN C-3d

SHEET 2 OF 2 SHEETS

SIDE

APPROVED FOR PUBLICATION

Harold J. Peterfeso

03-03-05

NOTE: THIS PLAN IS NOT A LEGAL ENGINEERING DOCUMENT BUT AN ELECTRONIC DUPLICATE.
THE ORIGINAL, SIGNED BY THE ENGINEER AND APPROVED FOR PUBLICATION, IS KEPT ON FILE
AT THE WASHINGTON STATE DEPARTMENT OF TRANSPORTATION. A COPY MAY BE OBTAINED
UPON REQUEST.

STATE DESIGN ENGINEER

DATE

Washington Siate Department of Transportation
/4




	c11b_eng LTCB end terminal.pdf
	c11a_eng LTCB.pdf
	c11_eng.pdf
	c03d_eng LTCB cable to w-beam transition.pdf

